

Answer: Absolute Advantage: Dept. 1: 100/1200 = 1/12
 Dept. 2: 100/1200 = 1/12

The production equation of a curve can be given in equation 1 & 2

$$x = cost + t \cdot \Delta cost$$

$$y = cost + t \cdot \Delta cost$$

In terms of t determine

1) an expression for the ratio of curvature (CR) and

ii) expression for the co-ordination (C) of the ratio of curvature (CR) and

$$\frac{\partial y}{\partial t} = cost + t \cdot \Delta cost$$

$$\frac{\partial y}{\partial x} = t \cdot \Delta cost$$

$$\frac{\partial^2 y}{\partial t^2} = \Delta cost + C(\Delta cost + \Delta cost)$$

$$= \Delta cost + t \cdot \Delta cost + \Delta cost$$

$$\frac{\partial^2 x}{\partial t^2} = t \cdot \Delta cost$$

$$\frac{\partial y}{\partial x} = \frac{\frac{\partial y}{\partial t} \cdot \frac{dt}{dx}}{\frac{\partial x}{\partial t} \cdot \frac{dt}{dx}} = \frac{t \cdot \Delta cost}{t \cdot \Delta cost} = \Delta cost$$

$$\frac{\partial^2 y}{\partial x^2} = \frac{\frac{\partial(\Delta cost)}{\partial t}}{\frac{\partial t}{\partial x}} = \frac{\Delta cost}{\Delta cost}$$

$$= \frac{\Delta cost \cdot \frac{1}{\Delta cost}}{\frac{1}{\Delta cost} \cdot \frac{1}{\Delta cost}} = \Delta cost$$

$$\frac{\partial^2 y}{\partial x^2} = \frac{t \cdot \Delta cost}{\Delta cost} = \frac{(1 + C(\Delta cost + \Delta cost))^{3/2}}{t \cdot \Delta cost^2}$$

(ANUAD), The Road to Intellectualism, Quality and Excellence

$$R = (1 + \tan^2 \theta)^{3/2} = \frac{(1 + \tan^2 \theta)^{3/2}}{t^{-1} \sec^3 \theta}$$

$$R = \frac{(\sec^2 \theta)^{3/2}}{t^{-1} (\sec^3 \theta)} = t^{-1} \text{ units} = t \text{ units}$$

Centre of curvature:

$$x = h + R \sin \theta$$

$$h = N_1 + R \cos \theta$$

$$DC_1 = \cos \theta + t \sin \theta$$

$$h = \cos \theta + t \sin \theta - (t) \sin \theta$$

$$h = \cos \theta + t \sin \theta - t \sin \theta$$

$$\theta = \tan^{-1} \left(\frac{dy}{dx} \right)$$

$$\theta = 1$$

$$\theta = 1$$

$$h = y + R \cos \theta$$

$$y = \sin \theta + t \cos \theta$$

$$h = \sin \theta + t \cos \theta + (t) \cos \theta$$

$$h = \sin \theta + t \cos \theta + t \cos \theta$$

$$h = \sin \theta$$

Centre of curvature = $(\sec^2 \theta, \sin \theta)$

$$R = \frac{(1 + e \cos^2 t)^{3/2}}{t^{-1} \frac{d(\cos t)}{dt}} = \frac{(1 + e \cos^2 t)^{3/2}}{t^{-1} (-\sin t)}$$

$$R = \frac{(1 + e \cos^2 t)^{3/2}}{t^{-1} (-\sin t)} = t^{-1} \text{ units} = t \text{ units}$$

Centre of curvature:

$$x = h + R \sin \theta$$

$$h = y_1 + R \cos \theta$$

$$OC_1 = \cos t + t \sin t$$

$$h = \cos t + t \sin t - (t) \sin t$$

$$h = \cos t + t \sin t - t \sin t$$

$$\theta = \tan^{-1} \left(\frac{dy}{dx} \right)$$

$$\theta = \tan^{-1} (\tan t)$$

$$\theta = t$$

$$R = y + R \cos \theta$$

$$y = \sin t - t \cos t$$

$$R = \sin t - t \cos t + (t) \cos t$$

$$R = \sin t - \cancel{t \cos t} + \cancel{t \cos t}$$

$$R = \sin t$$

Centre of curvature = $(\cos t, \sin t)$.

